. Explain Favorskii rearrangement with suitable
mechanism.

TeRIGh! JAfGIE i STEvas: fhanfafy gR1 Smemey

. Describe the generation, stability and reactions of
carbocation.

FEiheaT & Scafu, Tnfaa wa sfufwenei wt
HHEATRT |

. Write short notes on the following :

(i) Sn! mechanism

(ii)) Benzyne mechanism

frafafes = dfya femfort fafen

(i) Sn! fwenfafy

(i) e ToRanfafy

. Write a note on Vilsmeier-Haack formylation
reaction.

foeaieR -2l wifgetieo sfufwar w feoon fafem)
. What 1is neighbouring group participation ?
Explain with example.

TSI TR ®I YRNGR | 79 1 HHe © 7 9SSy |

. Explain Stereoselective and Stereospecific reaction
with examples.

wEfERafres td CifEmiatees Afafemast w1 S
gfed THemE |
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Note .— The question paper is divided into two Sections

A and B. Write answers as per the given

instructions.

fEer .- T8 yyA-u3 ‘o1’ iR ‘e’ 1 wuel | fawifsa ®1 v

g & EYER woe & W e
Section—-A 4%x4=16

(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 4 marks.
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G us—37
(afa oy 3w uv)
fFl o 9 & S SfSEl 9 U SWOHI

YAHAR T I, T a9 a1 Afushan 30 =g |
Tfidifqa wINT) 9% 9397 4 3% a1 B

Indole gives electrophilic substitution reaction
at position-3, explain.

TSI TolReTel gfaear d stfufean 3-fafa w
I T, TR

What are alternate and non-alternate
hydrocarbons ?

THR Td AH-THR TR 1 8 © 2
Explain enantiomers by suitable examples.
gfafers TEEafadl w1 IS0 dfed THET |

How to differentiate aldehyde and ketone by
IR Spectroscopy ?

TEERES TH HIeM 1 T SRR § HY
fadfeq =& 2

What are Chromophore and Auxochrome ?
Explain.

FHIHAER T SAFAHE 71 T ? THmET)
Write down the Reformatsky reaction.

frwtawst sifufean fafew)

MSCCH-02/4 (3)

(vii) Chair form of Cyclohexane is more stable
than boat form, why ? Explain.

TTeFACHIT 1 HH &9, T T G Afoeh T
¥, # ? gEml
(viii) Define ambident nucleophile with examples.

IYASH AMHREE i 3|0 g gRefea
T |

Section-B 4%x16=64

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 16 marks.

QUS—d
(T T q9)

o - fF=l a® 9w & S S o9 et S H

sfasram 200 v H OUfEifga SifSTl TdE T9H

16 3% =1 T

. Explain the Norrish type-I and Norrish type-II

reactions with suitable example.
Fifte-1 wa Ffw-11 sifafswanedl 1 sqeewr wfea
AR |

. Write short notes on the following :

(i) McLafferty Rearrangement

(i1)) Chemical shift and factor affecting chemical
shift.

frafafes w gfva fewfret fafey .
() AwHew AT

(i) TEEtE R @ ST gufed w9 SRS

T-506 TurnOver



